
fiber ≤ 6.5
gini = 0.337

samples = 42
value = [9, 33]

class = 1

spicy ≤ 0.5
gini = 0.498

samples = 17
value = [8, 9]

class = 1

True

age ≤ 54.0
gini = 0.077

samples = 25
value = [1, 24]

class = 1

False

fat ≤ 12.0
gini = 0.198
samples = 9
value = [8, 1]

class = 0

gini = 0.0
samples = 8
value = [0, 8]

class = 1

gini = 0.0
samples = 7
value = [7, 0]

class = 0

age ≤ 41.0
gini = 0.5

samples = 2
value = [1, 1]

class = 0

gini = 0.0
samples = 1
value = [0, 1]

class = 1

gini = 0.0
samples = 1
value = [1, 0]

class = 0

gini = 0.0
samples = 24
value = [0, 24]

class = 1

gini = 0.0
samples = 1
value = [1, 0]

class = 0


